@ 144 ® 145 @ 146 ® 147

O 143



el



the o] Al 1y

3.




ot
=

op

3
957
8

1
4

® 8

7
8
5
8

3
Z6
4
148
4

@ 8
® 8-,

7
8
3
8

3
7
;

— 5,
4

@ 8
@ 8



7

a

£ 4 9A FaAL,

it

M






& % UAlY] Fol A 2 AL ol AP

D 45.72+ 3.6 @ 4.572+36 ® 0.4572+ 3.6

@ 457.2+0.36 ® 4572 + 36



8.

12,951, 9] 2:& 0.71.4 Wo] o] giertal,
A 9 LA AR FekAl L.

B e £l
Be '

gl

ok
=

o
>

30

H



A AL R 7S
E AA Q.

6x3 ;2><@

TXO® B 3x7
=(6x3)+(2x©)

6x®@

2X7

9_42

T T

© 3



10.

3

=~ w

m

215—130

10] B A5 g &Lsﬂ HQE7F S5t 1m? 9]

B2 ke o] 9 L] A EREUA



gcm

&

cm



12, Zol7k62 mQ) A Hol 7} gk, 2l @ o

of A gol st W astehy B 9 Ao elie

kd = 7



yr
—

LEo]¢] 250 8o 7

5

13.



14.

Al 56.72kg 0] 1, 1] A0] o] EHAL 35 45ke LI T,
Al Aol o] BRA ] R BilA] F5HA L.

Gl



51.24 <[ |=84




16.

2 A1780] 2.4km
g7

D
=%

£ 7 Aol 10.08km S Ao 2® 2 A7kl We



17. 82 3572 Wrole o), £& &5 34 Ae7Ax 29 o] L]
A5k & 45 BA ALK T o] Lol A| 9] AHE FokA 0.

D
=%



Fotgie v o]

18. URAle] & Ads BEAK T3 T, YA
A7} 0.24 AU WeAle] 52 AL
39.44 + 5.6

D L
=%



[¢]

19. ofH 5 742 Wrolof &
=5 Uch. vl2A] ALt g

D L
=F

A8 ARsto] 2ot e Y 438.08 ©]
= TS L.



20. 4l°ol7} 40.32cm? Q1 th& AtttelE 9] #0]8 F5HA L.

2.8cm

1
T
| \
|
I
|
I

[ ]

1
/
/

-8 72cm- "~



mE

3
67

feba gt &

5]

g

g w=t o Jme) Eol

22 g A

21.

M



o2

U

=
%9

2 o)A Lol

<t o

ZHA AL QU £

Zdole

22,

el

7}

Ko
=

]

o7} 32 moligik. F @l



=

St ARt 12.5kg A Ho @1 e giglo] mE

23. 4 326.4kg=
godd AAte Zojx @ 7t D agtyrt?

e A






d T



